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readln(D);
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Fori1:=1to 10 do
Forj:=1to4 do
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a:.=0;
b:=1;
Repeat

It a=0 then continue

Else a:= a+b;

b:=b+2;
Until (b<<100);
Write(1);
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if (n<15) then
if{n>8) then
if{n=10) then
Write('*')
else
Write{'#');
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n:=1;
for i:=6 downto 4 do
n:=n*i;
write(n,',’,i);
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program sample;
var
n,i:integer;
a:array [5..8] of integer;
begin
n:=0;
a[5]:=1;a[6]:=2;a[7]:=3;a[8]:=4;
fori:=bto8do
if(a[i] mod 2=0) then
continue;
n:=n+ali];
write(n);
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program sample;
var
X: array [1..3,4..5] of integer;
I,j:integer;
begin
x[1,4]):=1; x[1,5]):=2;x[2,4]:=3;x[2,5]):=4;x|3,4]:=5;x[3,5]:=6;
1:=2; ):=4;
Write(x[i,jl+x[j-1,i+2]);
end.
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case a+b of
2,3,4: write('A');
5,6,7: write('B');
end;
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Write(int(5.8):5:1);

fori:=1tondo
begin
forj:=1toido
write(i);
writeln({);

end;
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i:=4;
j=9;
k:=7;
if (i<3) then
if (j>4) then
if (k=j) then
write('s')
else
write('#')
else
write('&');
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write('#')

else if(k SHL i>10} then
write('&')

else

write('S');
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program example;
var

i,j,k:integer;
a:array[1..5] of integer;
begin

1:=2;

fori:=1to 5 do
begin

ali]:=i+1;

inc(alil);

end;

fori:=1to 5 do
write(ali]:3};

end.
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a,b:integer;

c:real;

d:char;
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I:=1;

while({i<10) do
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Var
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Begin
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End;
End;
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Begin
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End;
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for i=1 to 3 do
forj:=1 to 3 do
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;End
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Begin
;Rcadln (first)
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End
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;1= 1; sum:=0
while 1<-100 do
begin
;SUM;=SUIM+1
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end
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Voo ANeps ¥ Yol Aps )

Tz y1j aoliy aslad (o295 —Fe

For i.=1 to 2 do
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